ORIGINA	DE OME
SIATE CORPORATION CONTISSION OF EXAMEN	API NO. 15- 129-21,069 400-00
OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM	County Morton
ACC-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	NE NE SW Sec. 6 Twp. 345 Rge. 42 X w
Operator: License # 3316	
Name: Matagorda Island Exp. Corp.	3130 Ft. West from Southeast Corner of Section
Address <u>P. O. Box 351</u>	(NOTE: Locate well in section plat below Lease Name $USA^{11}U^{11}$ $ u$ Well # $1$
	Field Name Taloga North Field
City/State/Zip Liberal, Kansas 67905-0351	Producing Formation Not Applicable
Purchaser: Not Applicable	Elevation: Ground 3471.5 KB NA
Operator Contact Person: J. L. Ashton	Total Depth 4825 PBTD 0
Phone ( <u>316</u> ) <u>624–6253</u>	10080 Depth 4025
Contractor: Name: Gabbert-Jones, Inc.	4950 4620
License: 5842 RE	CEIVED 4290 3960
Wellsite Geologist: NA	
X New Well Re-Entry Workover	0 5 1991 2970 2640 N
	ANTION DIVIDING THE THE TABLE
OilSWDTemp. Abd. Wid GasInjDelayed Comp. X DryOther (Core, Water Supply, etc.)	990
If OWNO: old well info as follows: Operator:	330 A.J. I. D
•	Amount of Surface Pipe Set and Cemented atFe
Comp. DateOld Total Depth	Multiple Stage Cementing Collar Used? Yes X
Drilling Method:	If yes, show depth set
X Mud Rotary Air Rotary Cable	If Alternate II completion, cement circulated from
2-14-91         2-22-91         2-24-91           Spud Date         Date Reached TD         Completion Date	feet depth to w/ sx cm
Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will buriting and submitted with the form. See rule 82-3-1 wireline logs and drillers time log shall be attached with 1	be held confidential for a period of 12 months if requested in 107 for confidentiality in excess of 12 months. One copy of all this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP- It temporarily abandoned wells. Any recompletion, workover of
All requirements of the statutes, rules and regulations promuly with and the statements herein are complete and correct to the	gated to regulate the oil and gas industry have been fully compli me best of my knowledge.
Signature Buult Williams	K.C.C. OFFICE USE ONLY
Beverly J. Williams Title Engineering Technician Date 4	F Letter of Confidentiality Attached
Subscribed and sworn to before me this 310 day of (1ps	Distribution
Notary Public _ Chery Steers	KCCSWD/RepNGPA   Other   Other   (Specify)
Date Commission Expires A CHERVL STEERS Wotary Fusio - State of K My Agri. Delree (-/	
(00/ 20)	<u> </u>

## SIDE TWO

Operator Name <u>Mar</u>	tagord	<u>a Isla</u>	nd Exp. (	Corp.	Lease	• Мате	USA_"U	J <sup>11</sup>	Well #	1	
			☐ East		Count	y M	lorton				
Sec. 6 Twp. 3	<u>45</u> Rge.	<u>42</u>	X West								
INSTRUCTIONS: Show interval tested, to hydrostatic pressur if more space is ne	ime tool es, batt	open a om hole	nd closed, temperature	flowing a	and shut-i	n pres	sures, whet	her shut-in p	ressure rea	ached static leve.	
Drill Stem Tests Taken  (Attach Additional Sheets.)					Formation Description						
Samples Sent to Geo	logical	Survey	X Yes				•	X Log	Sample		
Cores Taken			☐ Yes		Nac	ne		Тор	Bot	tom	
Electric Log Run (Submit Copy.)			X Yes	∐ <sub>No</sub>	SI	EE AT	TACHMENT				
		t		, ,		,					
	_		CASIN	IG RECORD	X New	П.,					
	R	eport a	ll strings s	set-conduc				production,	etc.		
Purpose of String		Hole lled	Size Ca Set (In		Weight Lbs./F		Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12	1/4	8 5/8		24		1257	Pozmix & Common	600	2% cc 2% cc	
									-		
Shots Per Foot	_		N RECORD ge of Each I	nterval P	erforated		Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				
None											
TUBING RECORD	Size		Set At		Packer A	t	Liner Run	☐ <sub>Yes</sub> ☐	] No		
None Date of First Produ	action	Producii	a Hethod								
Date of First Prode	n	, , , , , , , , , , , , , , , , , , , ,	,	Flowing [	Pumping	∐ Ga	s Lift 🔲 (	Other (Explain	)		
Estimated Production Per 24 Hours		Dil	Bbls.	Gas	Mcf	Water			l Ratio	Gravity	
Disposition of Gas:				XET	THOO OF COR	PLETIC	DNI			Production Interval	
Vented Sold Used on Lease Open Hole Perforation Dually Completed Commingled (If vented, submit ACO-18.)											
				Other ليا	(Specify)	- C-C	A CU		-		
		•		ŀ	FEERS OF ALERSON	(1) <b>-</b> (1)	A May P.	h	_		

## ORIGINAL

## ATTACHMENT

USA "U" No. 1 Section 6-34S-42W Morton County, Kansas

FORMATION	TOP	BOTTOM
B/Stone Corral	1268	+2204
T/Wabaunsee	2566	+ 906
T/Topeka	2780	+ 692
T/Greenwood Lansing	3024	+ 448
T/Lansing	3175	+ 297
T/Kansas City	3462	+ 10
T/Marmaton	3733	- 261
T/Cherokee	3954	- 482
T/Morrow	4250	- 778
T/L. Morrow	4522	-1050
T/Keyes	4658	-1186
T/Chester	4708	-1236
Log Total Depth	4826	-1354

RECEIVED
STATE CORPORATION COMMISSION

'APR 0 5 1001

CONSCIPNATION DIVISION Wights, Advanta

INVOICE

HALLIBURTON SERVICES GINAL

P.O. FUX 951046 DALLAS, TX 75395-1046

A Halliburton Company

093436 02/15/1991

WELL LEASE NO./PLANT NAME			WELL/	STATE	WELL/PLANT OWNER			
USA U-1	•	•	MORTON		KS	SAME	<del></del> -	<u> </u>
SER	SERVICE LOCATION CONTR			ACTOR JOB PURPOS			TICKET DATE	
LIBERAL		GABBERT	& JONES #12	CEMENT SURFAC	E CASI	SING 02/15/199		
ACCT, NO.	CUSTOMER A	GENT	VENDOR NO:	CUSTOMER P.C	). NUMBER	SHIPPED VIA		FILE NO.
019595	JIM BARLOW		•	33876		COMPANY	TRUCK	10719

ANADARKO PETROLEUM CORP P. O. BOX 351 LIBERAL, KS 67905-0351

DIRECT CORRESPONDENCE TO: FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT				
	EA - MID CONTINENT	GOARTHE	· O/IVI	ONE PROE	AMIOUNA				
000-117	MILEAGE	40	MI	2.35	94.00				
·		1							
000-118	MILEAGE SURCHARGE-CEMENT-LAND	4.0		.40	16.00				
	,	1	UNI						
001-016	CEMENTING CASING	1257		835.00	835.00				
		1	UNT	3					
030-018	CEMENTING PLUG 5W, PLASTIC TOP	8 5/2	ΊŃ	130.00	130.00				
		1	EA						
504-043	PREMIUM CEMENT	400	SK	6.85	2,740.00				
506-105	POZMIX A	200	SK	3.91	782.00				
506 - 121	HALLIBURTON-GEL 2%	7	SK	.00	N/C				
507-277	HALLIBURTON-GEL BENTONITE	7	SK	13.75	96.25				
509-406	ANHYDROUS CALCIUM CHLORIDE	10	SK	26.25	262.50				
500-207	BULK SERVICE CHARGE	634	CFI	1.10	697.40				
500-306	MILEAGE CMTG MAT DEL OR RETURN			1	610.88				
500-307	MILEAGE SURCHARGE-CEMENT MAT.	814.500	TMI	.10	81.45				
		· ·							
		,,		,	·				
	INVOICE SUBTOTAL	'			6,345.48				
				RECEIVED					
	DISCOUNT-(BID)		CTATE	CORPORATION COMMISS	IDN 1,823.68-				
,	INVOICE BID AMOUNT	+ 111.	21/1/18	A COLONIA	4,521.80				
				ADD C 5 4001					
	*-KANSAS STATE SALES			APR 0 5 1991	161.64				
	*-SEWARD COUNTY SALE	S TAX		CONSERVATION DIVISION	38.03				
	,	,	1	Wichita Kansas					
	3 /			• • • • • • • • • • • • • • • • • • • •					
	4255 - 2041	j							
	1/2(5 - 009)								
	$  \mathcal{A} \mathcal{A} \mathcal{A}  $	2 )	91						
			•	]					
	INVOICE TOTAL - PLEASE PAY TH	S AMOINT			\$4,721.47				
	INVOICE TOTAL - PLEASE PAT THI	D WHOOMI Ed			\$4,141.41				
TERMS INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE, UPON									